(RN
<

a(6 @) (rad)
a(d cot(B))

T 107

1072

1072

1.4
1.2

Ratio
P
a1
Ratio

I
iy

0.8

|
[T

i E- et 1% |-
-2 -1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[—=— DQM original_StepZ_Tbar-phasel-Newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—e— DQ &
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

1

|
w

- — — -
1] Lo c E
(5] - O r
= r: e i
- —_ o
> I > [
o L b L
o L
) o

107}

1072
1.2

10

1.2

Rati
Ratio

=

1 2 3
TP n (PCA to beamline)

|
W

1072

Ratio
=

0.5

i ; ] ; 1y ]
0 1 2 3
TP n (PCA to beamline)

|
w
| E
N
|
[N



	Contents
	Page 1


